
 

 (A-40) P. T. O. 

S-211    Roll No. ………………….. 

BAEC–202/EC–04 

Uttarakhand’s Economy 

¼mŸkjk[k.M dh vFkZO;oLFkk½ 

Bachelor of Arts (B.A.-10/12/16/17) 

Second Year, Examination, 2018 

Time : 3 Hours   Max. Marks : 80 

Note : This paper is of eighty (80) marks containing three 

(03) Sections A, B and C. Learners are required to 

attempt the questions contained in these Sections 

according to the detailed instructions given therein. 

uksV % ;g iz’u i= vLlh ¼80½ vadksa dk gS tks rhu ¼03½ [k.Mksa 

^d*] ^[k* rFkk ^x* esa foHkkftr gSA f’k{kkfFkZ;ksa dks bu 

[k.Mksa esa fn, x, foLr`r funsZ’kksa ds vuqlkj gh iz’uksa ds 

mŸkj nsus gSaA 

Section–A / [k.M&d 

(Long Answer Type Questions) / ¼nh?kZ mŸkjh; iz’u½ 

Note : Section „A‟ contains four (04) long answer type 

questions of nineteen (19) marks each. Learners are 

required to answer two (02) questions only. 
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uksV % [k.M ^d* esa pkj ¼04½ nh?kZ mŸkjh; iz’u fn;s x;s gSaA 

izR;sd iz’u ds fy, mUuhl ¼19½ vad fu/kkZfjr gSaA 

f’k{kkfFkZ;ksa dks buesa ls dsoy nks ¼02½ iz’uksa ds mŸkj nsus 

gSaA 

1. What is meant by poverty ? Describe the poverty 

alleviation employment schemes implemented by the 

government. 

fu/kZurk ls D;k vfHkizk; gS \ ljdkj }kjk ykxw dh xbZ 

fu/kZurk mUewyu jkstxkj ;kstukvksa dk o.kZu dhft,A 

2. What do you mean by agricultural subsidies ? What are 

their different types ? Why are these extended ? 

d`f”k lgk;dksa ls vkidk D;k vfHkizk; gS \ blds fofHkUu 

izdkj dkSu&dkSu ls gSa \ ;g lgk;d D;ksa fn, tkrs gSa \ 

3. Why is it necessary to encourage/promoting rural 

industries and artisans in the changing environment of 

the Indian Economy ? Also suggest measures to make 

this sector viable and more productive. 

Hkkjrh; vFkZO;oLFkk ds cnyrs ifjos’k esa xzkeh.k m|ksxksa vkSj 

f’kfYi;ksa dks izksRlkgu nsuk D;ksa vko’;d gS \ bl {ks= dks 

vFkZ{ke vkSj vf/kd mRiknd cukus ds mik; Hkh le>kb;sA 

4. Describe the possibilities of the tourism industry in the 

state by explaining its importance in the state‟s 

economic development. 

jkT; esa i;ZVu m|ksx dh lEHkkoukvksa dk o.kZu djrs gq, 

jkT; ds vkfFkZd fodkl esa blds egRo dh O;k[;k dhft,A 
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Section–B / [k.M&[k 

(Short Answer Type Questions) / ¼y?kq mŸkjh; iz’u½ 

Note : Section „B‟ contains eight (08) short answer type 

questions of eight (08) marks each. Learners are 

required to answer four (04) questions only.  

Answers of these questions must be restricted to 

two hundred fifty (250) words approximately. 

uksV % [k.M ^[k* esa vkB ¼08½ y?kq mŸkjh; iz’u fn;s x;s gaSA 

izR;sd iz’u ds fy, vkB ¼08½ vad fu/kkZfjr gSaA 

f’k{kkfFkZ;ksa dks buesa ls dsoy pkj ¼04½ iz’uksa ds mŸkj nsus 

gSaA izR;sd iz’u dk mŸkj nks lkS ipkl ¼250½ ‘kCnksa ls 

vf/kd ugha gksuk pkfg,A 

Briefly discuss any four (04) of the following : 

fuEu esa ls fdUgha pkj ¼04½ ij la{ksi esa ppkZ dhft, % 

1. Key Features of Uttarakhand‟s Economy. 

mŸkjk[k.M vFkZO;oLFkk dh izeq[k fo’ks”krk,¡A 

2. Evaluation of the Population Policy of India. 

Hkkjr dh tula[;k uhfr dk ewY;kaduA 

3. Problem of migrations of Population from Hilly Areas. 

ioZrh; {ks=ksa ls tula[;k ds iyk;u dh leL;kA 

4. Importance of Dryland Farming in India. 

Hkkjr esa vflafpr d`f”k dk egRoA 

5. The role of Rail Transport in the Industrial 

Development of India. 

Hkkjr ds vkS|ksfxd fodkl esa jsy ifjogu dk egRoA 
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6. Various weaknesses associated with the Education 

Section and Health Sector in India. 

Hkkjr esa f’k{kk {ks= vkSj LokLF; {ks= ls tqM+h fofHkUu 

detksfj;k¡A 

7. Write short notes on the following : 

(a) State of Literacy in Uttarakhand 

(b) Stated Objectives of „Operation Flood‟ 

fuEufyf[kr ij laf{kIr fVIif.k;k¡ fyf[k, % 

¼v½ mŸkjk[k.M esa lk{kjrk dh fLFkfr 

¼c½ vkWijs’ku ¶yM ds ?kksf”kr /;s; 

8. Defects of Agricultural Finance in India. 

Hkkjr esa d`f”k&foŸk ds nks”kA 

Section–C / [k.M&x 

(Objective Type Questions) / ¼oLrqfu”B iz’u½ 

Note : Section „C‟ contains ten (10) objective type 

questions of one (01) mark each. All the questions 

of this Section are compulsory. 

uksV % [k.M ^x* esa nl ¼10½ oLrqfu”B iz’u fn;s x;s gSaA izR;sd 

iz’u ds fy, ,d ¼01½ vad fu/kkZfjr gSA bl [k.M ds 

lHkh iz’u vfuok;Z gSaA 

Fill in the blanks with appropriate words or phrases : 

mfpr ‘kCn ;k okD;ka’k ds lkFk fjDr LFkkuksa dh iwfrZ dhft, % 

1. Which district of Uttarakand has lowest population in 

the year 2011 ? 
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o”kZ 2011 esa mŸkjk[k.M ds fdl tuin dh tula[;k lcls 

de gS \ 

2. In India, maximum numbers of workers are employed 

in .................  Industry. 

Hkkjr esa 
----------------------

 m|ksx esa Jfed vf/kdre la[;k esa 

dk;Zjr gSaA 

3. Which is the top co-operative bank of Uttarakand  

State ? 

mŸkjk[k.M jkT; dk ‘kh”kZ lgdkjh cSad dkSu&lk gS \ 

4. The largest dam in Uttarakand is .............. . 

mŸkjk[k.M esa lcls cM+k ck¡/k 
----------------------

 gSA 

5. Disguised unemployment in India is mainly related to 

............ sector. 

Hkkjr esa izPNUu csjkstxkjh eq[; :i ls 
----------------------

 {ks= ls 

lEcfU/kr gSA 

Choose the correct alternative. 

lgh fodYi pqfu,A 

6. National Development Council was set up in : 

(a) 1948 

(b) 1950 

(c) 1951 

(d) 1952 
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jk”Vªh; fodkl ifj”kn~ dh LFkkiuk fuEu esa ls fdl o”kZ dh 

xbZ Fkh \ 

¼v½ 1948 

¼c½ 1950 

¼l½ 1951 

¼n½ 1952 

7. 70% of working population of India is engaged in : 

(a) Public Sector 

(b) Primary Sector 

(c) Secondary Sector 

(d) Tertiary Sector 

Hkkjr dh 70% Jethoh tula[;k@vkcknh fdl {ks= esa 

yxh gqbZ gS \ 

¼v½ lkoZtfud {ks= 

¼c½ izkFkfed {ks= 

¼l½ f}rh;d {ks= 

¼n½ r`rh;d {ks= 

8. The growth rate of agricultural production was 

negative in the : 

(a) First plan 

(b) Second plan 

(c) Third plan 

(d) Fourth plan 
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d`f”k mRiknu dh udkjkRed o`f) nj fuEu esa ls fdl 

;kstuk esa Fkh \ 

¼v½ izFke ;kstuk 

¼c½ f}rh; ;kstuk 

¼l½ r`rh; ;kstuk 

¼n½ pkSFkh ;kstuk 

9. Absolute poverty means : 

(a) Poverty in terms of absolute number of people 

(b) Poverty in terms of the basic minimum calorie 

requirements 

(c) Poverty in terms of the prevailing price level 

(d) Poverty in terms of the absolute level of 

unemployment 

fujis{k fu/kZurk dk vk’k; fuEu esa ls D;k gS \ 

¼v½ O;fDr;ksa dh fujis{k la[;k ds lUnHkZ esa fu/kZurk 

¼c½ cqfu;knh U;wure dSyksjh vko’;drk ds lUnHkZ esa 

fu/kZurk 

¼l½ izpfyr ewY; Lrj ds lUnHkZ esa fu/kZurk 

¼n½ fujis{k csjkstxkjh ds Lrj ds lUnHkZ esa fu/kZurk 

10. Based on the economic development rate, Uttarakand 

has a ................... place in the country. 

(a) Second 
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(b) Third 

(c) Fourth 

(d) Fifth 

vkfFkZd fodkl ds nj ds vk/kkj ij mŸkjk[k.M dk ns’k esa
 

----------------------
 LFkku gSA 

¼v½ nwljk 

¼c½ rhljk 

¼l½ pkSFkk 

¼n½ ik¡pok¡ 
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